6.] Educational Circular. . 5

COUNTY OF CARLETON.—Continued.

Prov'l Grant to Teachers. Locality. County Fund to Trustees.
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Eva E. Hovey...... 21114 {$44 22:Wilmot 32853314 74{821 46336 20
*Donald McDonald S{114 | 44 29 ¢ 381 1427 | 14 74 9 32] 24 06
Florence J. Carve 21114 | 44 224 ¢ 12404 14 74} 8 10| 22 84
Anna L. Hartley 2] 41| 2120 « 4‘." 15794 7 06| 10 82| 17 88
John Wallace... 31116 | 45 00|Wilmot 31'| 18427 15 00} 12 03] 27 03
James Hartin.... 3] 95 | SC 85{Woodstock. . 119557 2051 | 12 281 13 40| 25 63
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